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GENERAL STUDIES
ST — I
PAPER -1
&M emey : eperml entl Crd Qs w6 emser, . 250
Duration : 3 Hours Total Marks : 250

(@euellarm-ellewL_ggmer Qgm@Liy 64 Lsshsmars O&Ta @ drerg))
(This question-cum answer booklet consists of 64 pages)

Meyengser/Instructions

(EpssaTL sifle|amysemer ellamaTiiLgTrise seuproad berUpn Couar(Hiwb)
(Candidates shall comply with the following instructions)

1.  derenriiugnyiser,  @Qeuelamm-cleLssrar  QETEUy  Qibrgsd 64 LssmSMETS
Qarem(ererg eramens (Pl 2 mid CQguig Lsmaer Calamhn. @s50smEriled gCGseab
@opurgpliler, oL anqurs Caump OCsr@liemu’ Csieys samsteniiumerfln  CamilL
Qupms Csmerer Couam@Ib.

Candidates shall first ensure that this question-cum-answer booklet contains 64 pages.
In case of any defect found in thi§ booklet,ithey can request for replacement from the
invigilator immediately.

2.  galeurm cdameipeh sealssafluns el eageushEsar @LID @FH&EHILL(HETETg.
clarenriiugmyrger qealCeimm afemmeilh@n oL welss gasstiul L @Lidae wlHGw
denLweflss  Ceuarib.” edevlweafllss e@ssiul L @QLsdhEe OeuelCu  eaguyb
CT(LPSH&HTnL_ITG).

Space has beenfprovided to write the answer for each question. Candidates have to
answer the questions only in the space provided for that question. They should not write
anything outside the space provided.

3. elehreiLILISmITTS 6T eNlarmg et e eeuGleum(m 9fleSlgpid <dleymssLir_(HeTer
cramenismsufarar alamsseEnsE WLLHGL o wealss CeoamrbHb. <sHE@E WOevswmen
cremanflsansuioonar ellarmssens@ allanwellgsmd, eeibeun Gfledler (pg.elebd LSlanswimer

cremtentlsanstiler aflenL wellEsiul Ll samsdled ef(HSgISCSTaTeriILIL DT LMF).

Candidates should answer the number of questions as instructed in the question paper
mheach section. If more than the required number of questions are answered, the
additional questions answered in excess at the end of each section will not be taken into
account.

4. Qeacdam-alors Qzr@ube olamssear gl wLOHMID YhdHe cuqeuBisald 2 dTeTer.
Smansg @emsaiad < mide aigelld sriulBeraraneiCu (piqelTarenel.

In this question-cum-answer booklet, questions are in Tamil and English versions. In all
matters, English version is final.
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5.  damanriugmrisdt @b cdarm-elen s Qar@ulambg ehss Sraverud HPSFHeN &

oL Mg).

Candidates should not tear off any leaves from this question-cum-answer booklet.

6. @5Csmmel QUTMISSUMT, SPSTE 6T(PSHIUSDHETHED, T(pSSHILlmpuilenil 6T(LpgIcuSHSBMH6LD
Sawng wHICLTSHET giSsILLelldema.
There is no reservation of marks for neatness of writing and correctness of spelling in
respect of this examination.

7. NeTarTILISTITSET S5 euarse Curern elamésensd elamiuualsGn Curpg shiseas)
QuuergCuim, uHQeuamereGuT  T(WPs&EamLTg. sShserg Cuufle ) esCumiusleyb
<l@ingluflerane. SjeUeummmTen iy AT LISlevar) &3 el Lim(pg) clarmgaafled
@OudLtuc Harer Quuwir wHmibd waeufewGur LiweTU HESCalE(HLD.

darmssailes Quuwir, @aeufl ydwemes @GOG UL eldemaoCueid, ‘a@tiybT,
Qumip™ wpaeuflsefles o <@, @ ADwF e Ul QFL DG TdHev erdhev erdhev Gumemn
Qurgils Quwirgener I HGW er(psCouaTHIb.
Candidates should not write their name, x€gister number while answering letter writing
type questions. Affixing signature in their name is’also not permitted. To answer such
questions, the name & address givendmwthequestions alone should be used.

If no name is given in the 'questions, they should write the general names like
ABC or XYZ or XXX in ‘From’ and “To’ addresses.
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SAwE —1I

UNIT —1I
Wfley — <=
SECTION — A

Golly: 1) gaCeunm elamaingd 150 QemhaErsE Wamoned aflan wiefléaeyid.
Note : Answer not exceeding 150 words each.
i)  geuleum(m eflermmelH@b LS WHLIC LIGRTSET.
Each question carries ten marks.
1) Qar@ssiul_(heter gHg elamssate) cranelClignid BETE NeaTTESEHES
L (O eflenLwefl&Heb.
Answer any four questions out of five questions.

(4 x 10 = 40)

Q.No. | 1806 Ceugt seswrerg 1857 SAlumd, sagsdear  parCarmg  Hlspey ererLms
1 Buruiu@égs.
Justify that the 1806 Vellore Mutiny was a preearsor to 1857 Sepoy Mutiny.

ellew. / ANSWER
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Q.No. | 1919b yerhé gL gHerug wrblosdar @rlea <& penpuler GEweLm qaer
2 w6 s.
Assess the working of Dyarchy in the provinces according to the Act of 1919.

elleo. / ANSWER

N
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Q.No. | @als ser wsm_uler Lkisaflia @‘ QyLb.

3 Give an account of the contribution of Lalit Kala Academy.

leo. / ANSWER /

GS1MA-22 8
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Q.No.
4

@pHw FoevgTammse emridamean il sigmm LCLler Lniflaar (paraflamaliLhssls.
Highlight the role of Sardar Patel in the Integration of the Indian States.

elew / ANSWER

N
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Q.No. | e prhseflen FT&SBIGET 6Tel w s&sBHr CumprlLsgder Sellrourdls@nss
5 2 gellwg)?
How far the International infl elped for the growth of Extremist nationalism
in India?
eflen / ANSWER p 4
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Gfley — <
SECTION — B
Golly: 1) eaGeun efarmain@b 250 QamhaEnsE Wame e _wefléseaib.
Note : Answer not exceeding 250 words each.
i)  geubleumm eflermmellH@b uHemanbgl S LIGLITEET.
Each question carries fifteen marks.

1) Qar@pssiul_(heter pHgl elamssefledy reneuCueand Brem@d oleumss ensE
L (O eflenLwefl&Heyb.

Answer any four questions out of five questions.

(4 x 15 =60)
Q.No. | ue(pss saTLLSERSE; WSS UIQID G BHWT cuslenwimang) / sualaiTeg cremy Bhisear 6bs
6 | cuwsuled Hlevansddrser?
In what ways do you think, India is formidable / strong even in the midst of
diversities?
alen_ / ANSWER
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Q.No. | 19,0 mrpprarTgen Feps-Fow FTHHSs QUESRIGET QUETHET OHMID GLBMSEHEHESE
7 adlyrer ABHpenuUDD Feps Banl_(Ppepmaaer Hleumssl CFuissm?
Did 19% Century Socio-religious reform movements address unethical social
practices against women and children?
en / ANSWER

N

GS1MA-22 16
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Q.No. | uamenLw gl prafssdHer G bl &g ASPTLG| THFETEES STEESMS
8 | apusBudeng?

How far the Keeladi excavation has had an impact on the antiquity of ancient Tamil

Civilization?

efleo / ANSWER /

GS1MA-22 18
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Q.No. | QeuarenerwCanr QeuallGum @Qusssder sWlpssHar Gemared cutsssdar LkisafllienL
9 LHIAHS.
Evaluate the role of working class of Tamil Nadu in the Quit India Movement.

e / ANSWER

<>
§<</
N

21 GS1MA-22
[HwLiys/Turn over






Q.No. | G ey @bdHwmelen QuTBeTTSTY O&HETenS U MG THSSS 6T 2, Fmiis.
10 | Analyse the impacts of Economic polie British India.
elen / ANSWER
23 GS1MA-22
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@ — 11

UNIT —I1
Wfley — <=
SECTION — A

Golly: 1) gaCeunm elamaingd 150 QemhaErsE Wamoned aflan wiefléaeyid.

Note : Answer not exceeding 150 words each.

i)  geuleum(m eflermmelH@b LS WHLIC LIGRTSET.
Each question carries ten marks.

1) Qar@ssiul_(heter gHg elamssate) cranelClignid BETE NeaTTESEHES
L (O eflenLwefl&Heb.

Answer any four questions out of five questions.

(4 x 10 = 40)
Q.No. | @ipdwreler Symoliyym CuergeT LghemwsH Frasiamniilea Salwms umCsHugEm ppavd
11 | o flsmybd QUOMETETTTSETT GraTLIENS i FilL| BISET.
Examine whether rural women inIndia have been empowered by their active
participation in Panchayat Raj system.
oo / ANSWER

GS1MA-22 26
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Q.No. | Slgmodiyp, psriyp soell Qe Geualeows @ampliuded Wear-spmeler Lkiemns BHiawmd
12| wdulse Gewis.
Critically evaluate the role of E-learning in bridging the rural, urban educational

elew / ANSWER

S
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Q.No. | @pHwmelled Qwrss HHa|nHL NSSLE @@DEDGI? wE&ET (gTans CLmESSS 0 iger

13 STESHBIGET GTEIEN?

Why is Total Ferti rate {lling in India? What are it’s implication on population

explosion?

elew / ANSWER
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Q.No. | sepssdear LurdssuLsamiqw GfelarflanCu Fops Bomer CobUGSH S D SiFe Frym
14 | fpeiemseier unidmer s uHH efeurddseab.
Discuss the role of non-governmental organisations in promoting social welfare
among vulnerable sections of society.
afen / ANSWER

S
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Q.No. | Slgmoiiyy wésefld BB Wfledamgr dmausTe @LbGLWTe| Ceupmils Ldefls@né @0
15 | wpyw ss6i6EHsE0 QU0F Qsadng. @bs Sidsmsmw B HLISH Qs

Seasonal migration_of weaker sections of rural population is leading to empty

schools and closedfdoors. Critically assess this statement.

elew / ANSWER

GS1MA-22 32
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Gfley — <

SECTION — B

oy : 1) galeunm elamaingb 250 QemhaErsE Wamoe aflanweflésea,ib.

Note : Answer not exceeding 250 words each.

i)  geubleumm eflermmellH@b uHemanbgl S LIGLITEET.
Each question carries fifteen marks.

1) Qar@pssiul_(heter pHgl elamssefledy reneuCueand Brem@d oleumss ensE
L (O eflenLwefl&Heyb.

Answer any four questions out of five questions.

(4 x 15 =60)
Q.No. | Ggmbglw oiglinenLuled euerrsluden Leeansatian sBwHm AEICWTEL @mdude Grmhdw
16 | curgsens 2asEeEADg. 2 msdr LHme rHSSSHTLHLor alleTsEs.
Unequal distribution of benefits of developmient~on regional basis eventually
promotes regionalism. Substantiate yoursanswer with illustrations.
alen_ / ANSWER

GS1MA-22 34
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Q.No. | gefllL e Lyl & gl L 0&&5@H6E AHsTrb afllsgicrerg e smsams Hriser hmis
17 | QerardlBiserm?
Do you agree with the view that digital revolution has empowered the people at
grass roots?
afen / ANSWER

S
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Q.No. | @pdwreledy Qamfler panenCGeur
18 | Qumrmermgnyopp sryaisemer &L

Evaluate the economic and#non-economic factors influencing entrepreneurship
growth in India.

aueTidFflepw el eU@GHGLL, CQUTHETTSTID  WHMILD

e / ANSWER

39 GS1MA-22
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Q.No. | @pdwreley eflengeurean pasyLWLTSSO6E QFuasaflamd o (aum@h LOGaum FepsL
19 | Qréflemeansenerts LpM eleundlésab.
Discuss various social problems that originate out of the speedy process of
urbanisation in India.
afen / ANSWER

N

GS1MA-22 42
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Q.No. | aumeno, GLHens Ggmdemermé TEwIO DO GRHaS CFTfleomar', eumIEL&E

20 | smyewrom ereLems LGLLIMLG] Qais.
Analyse whether poverty is }e cause of child labour or child labour is the cause of

poverty.

e / ANSWER

GS1MA-22 44
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&L :

Note :

@ — I
UNIT — III
Wfley — <=
SECTION — A
1) geubeunm ellameliih@n 150 QanhaEnsaE WaTe cilan_waflssaqid.
Answer not exceeding 150 words each.
i)  geuleum(m eflermmelH@b LS WHLIC LIGRTSET.
Each question carries ten marks.
1) GsrhssiulHerer eperm alamssate ereneuCllggd @Fenr@® NammssEhs s
L (O eflenLwefl&Heb.
Answer any two questions out of three questions.
(2 x10 =20)

Q.No.

21

(@)

(b)

21 Q&S QL Lpeiter o (mener) LTSS FGS b Gewmentm 2 areng). 6 QS 6L (paTer e
o Gorss Cararseans @Qsaidr cp@@Gblly ol téd uTsHrsder Sementt L LD
GTEUGUETE 2 _UI(THLD?

@ rmogdlen wEsEr CsTang 39204 emeu(h&E e Braversa@ 20 o eislb searrantm
AFCLTSHLLSHE hprHCLITD Cmfle, seamentm QSm iy s L LU L gl SiSSeEmentis
QsriiysE 5 Qe <y rupara@rpmuder cufluns eleammgse 4 8 Coussdd samrantm
Qegvlmg,. epeuGleur(m BrEHD ASEST 14 ulled sefment Flenmuwt ereucueme| CHILD @D ?
(r=3.14)

A cylindrical wessel 6f diameter 21 cm contains water. A metal sphere of
diameter 64cm is lowered into the water until it is completely immersed.
By how mueh does the level of water rise?

An over head tank has been constructed to supply water to a village with a
populationsef 3925 at the rate of 20 litres per day per head. Water is pumped
intepit*through a pipe of 5 cm radius, the rate of flow being 4 m per sec.
How long, wall it take to fill the tank every morning? (7 =3.14) (10)

len / ANSWER

47 GS1MA-22
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Q.No. | (=) @ wsssysTIRsE aQemampub T 86485@ emeui elhmri. Qeieumy eldHndd
22 el 8% @emuapd, wHmHe 10% BLLpbL AUBHESG gHULL G QLTS5
SIUHSE FHUL L @QTLILD Sededgl BL L FH6ISD SHrewrs.

(=) @ sowrileaw 8% sdrepuiguild T 6,000 &g b albpdprt aafld ger @Glss
leveen s SHTewTs.

(a) A man sells two wrist watches at ¥ 864 each. On one he gains 8
other he loses 10%. Find his gain or loss percent on the whole. )

(b) Ram sold a almirah at ¥ 6,000 after allowing a discountjof8%. Find the
marked price. )]

Men / ANSWER k
o \"
 \~

2\ )

)~ 4
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Q.No. | (=) 8 Q&S uss
23 . .

t the centre.

Qa;rr& R @PBIE 2N Caransslaer Dembhs 2 6reul L Glen

®)

the length of the chord of a circle of radius 15 cm subtending an angle of

®)

GS1MA-22
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Gfley — <

SECTION — B
oy : 1) galeunm elamaingb 250 QemhaErsE Wamoe aflanweflésea,ib.
Note : Answer not exceeding 250 words each.
i)  geubleumm eflermmellH@b uHemanbgl S LIGLITEET.
Each question carries fifteen marks.
1) GsrhssiulHerer apern edlamssafler ereneuCuigyd @rar® 6laumasehs s,
L (H eflenLwefl&Heb.
Answer any two questions out of three questions.
(2 x15=30)
Q.No. (=) @ranr Coieul L 2 (menerullen <y rmisefler alSgn 4 @ 3 HMID Sjeubblen 2 wiFkisefler
924 &g 3 1 5 eraflédy eupmlen cuanerLrlgsetlen aldlsib, Qurgsl LmluriLseter
&lBD LMD sHar ere|safler aldlsb S sluialHanms s mes.
(=) @ wpsCaransdler epern Careanmigefleanefldsmgear (5x —12), (2x +36), (3x +36)
eratled 4x — 24 e UL wng?
(a) The radii of two right circular eylinders in the ratio of 4 : 3, and their heights
are in the ratio 3 : 5, Find theaatio of their curved surface areas, total surface
areas and volume. 9)
(b) If the angles of a triangle @aré in the ratio (5x-12), (2x+36), (3x+36).
What is the value of 4x& 247 (6)
aflen. / ANSWER
GS1MA-22 52
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Q.No.

25

@ F1ESE gL mneag o (heneruller g by Qeenbs euqelle) HEMBIIETETS).
g Lmrsdler Qorgs o wiyb 56 5. Sigen Sigliumsgder el L 42 . 2 (meverl) Lmssen
2wy 28 . Cogud 1 #.8 Hggrar giamflufer ellewer T 15 erafldd, sLmyb SDLESS
Coemeuwimen Slggmen glewlulen alencvanis smenrs. G@ID 2 (HeneTll LGS wHmLb FalbdLl
LGS ullen S ieTe STEHTs.

A circus tent is to be erected in the form of a cone surmounted on a cylinder.3The
total height of the tent is 56 m. Diameter of the base is 42 m and, height"of.the
cylinder is 28 m. Find the cost of canvas needed to make the tent, if the cost of

canvas is ¥ 15/m2. Also find the volume of the cylindrical part andéconical part> (15)

elew / ANSWER

55 GS1MA-22
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Q.No.
26

60 B o wpgperer g Caryrsden o &8 wHMID <ig WSHweuDDO(BHS @ SOBIGEM]T
Marslenr o &8 ghmd Csmeavmiser wpeopGu 30° wHmd 60° eafler somsmr
& _anams. CoIb somsmr efarsdlar o sflullallmbg Camrsdler

LD &TETS.

(15)
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SPACE FOR ROUGH WORK
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